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One of the product is

major product
and

the other product is minor product .I

which rule govern 's
the

major product ?I

Markovnikov's rule .

1-
,M0Y"

Negative part of HX ( X) is added b-

that double banded C-alim which has less

no- of te-atom .

In Ext : Which is major product A
or B ?

13 is lñe major product .



d. Write the products ( major) for the following
reactions :-

ie
cis cuz- u4=Éus + Ha →animation;]'
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+ Har- ng ,§-ay peroxideeffect
H
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Peroxide
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orsaytzeffLiii, 91547=412 + HBO→ cHjaz-az-Bo rule .

Peroxide Crayon
µ, -41-41=91+119-gutsy?
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Markovnikov's rule .
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4) By Halogen Exchange : - f preparation
of

R-F
is

"

highly
exothermic

to make R- F & R
-I | r-IFinkelstein reaction→

R-✗ + Na# dyad# R-I + Nax .

(✗ = Cl , Br)
Swarts reaction :-
R-X + Agf > R-F + Agx

(✗ = Cl>Por )



Convent : propan - to to iodopropaue .
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§ Draw the structures of major products in each
of the following reactions :-
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Preparation If tlaloanenes :→
C) From benzene Cii, from Diazoniumsalt .

From Benzene ;- Ears rxn .

Chlorination of Benzene ice
+ cizanhyd.MG, + HCI

Brominate'm of Benzene :-

?⃝ + By
anhyd. Feels

, ]% + HBr
.

Iodination of Benzene:-

+ Iz→ - + µ,
[difficult]



How to carry out
iodinatim 4- Benzene ?

# By using strong oxidising agents like +11--0
, or

KNO
,
acid

. Ñ=N A-

or

II) from Diazonium salt :- ☒
Nie

Diazonium salt of benzene .

NH~ Nitrous acid IN -=N a-
?⃝ ( HNK)%

NANO
,
-1 HU

Aniline Diazonium salt



W/HU
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NE Nitrous acid IN -=N a-
⇐ CHHIM GYHBR

> -Br
NaN0ztHy

Aniline Diazonium salt

cuclltla Cuff/miss Gottesman reaction

✗ Y G 1ice Br

② ( s 1+1

sandmeyen 's mention
How to prepare

iodo benzene
.
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Physical properties of -

tlaloaltgaues.ci) B. P Solubility
fbmnchtdif.demoment.

Boiling Point :- a. ↳ KdT⑦→ straight chain
H- Bond > polar & non - polar >Molecular mass> straight

chair

④ (b) >Brandy.
"£%%%%%"£%%" "

&
"d" &

its boiling point :-Ansari 41-9,4-34-4
c)
4
> Me
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EE#→ ago , cnn.BR ,
cha
,
& at Bros (Ting order of

flat cos est (d) f B.P )

chloromethane T Chloroform Bromoform
Bromomethane

albcctd

8¥ chloropropane , isopropyl chloride, 1- chloro butane .

Arrange them in increasing order of Boiling Point .
⇒ cthjaz-az-clihf-CH-cljettz-etf-ctf-ctf-9.cz/1zU② ⑧ ↳ ②

czHzU CgHq9

b.Lace



⇐ ) solubility :-
"

i-E.EE
"

Polar solute és
.
soluble in polar solvent
OR

Non - polar solute is soluble in non-polar
solvent

.

Casa polar 1h general, R-✗ (alkyl halide) is polar in
nature & water is also

polar in nature .

1.
Our expectation is that R-X is soluble or miscible

in water . In actual practice Rx is

slightly soluble for insoluble) or immiscible in



water .

Q
. Alkyl halides , though polar, are immiscible in
=

water . Why ? e*ña

And: Rx do not form A- bond with solute - solute + Solvent - Solvent

H2O . And RX can't break the 1
Solute- Solvent interaction4- kind of two water molecules

St S- St 8- h - o
'?
#anR-X . . . - -" R- X& interact . T

dipole-dipole interaction
"

→

✓

A
A-bond .

( strong H- band)

E-I §=n
"

"
mist

dipole-dipole interaction

( weaker Kian H- band of
water)



[
Bands

Dipole Moment : µ=q * d
t
↳dñ Quantity

.pmagnituÑeW
↳direction

coz 5=>0 T

Mnet --0 ⇒ Non-polar structure of
molecule molecule '

É c- a bond has partial which is more
→ double band character

. polar&

why !

[§- c- a bond has pure single bond character .

more
E-N least E-N

f
sp-e > spec >

dig



spr.hybridisedcn.tn as
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sp
> ( less solo

- charades

,÷÷( greater s- Chandni : least E-N )
i. more

E -N )

(E) a.ge/EN:-B7c7A(E)
a+,
→

a. has
lost.it?mpFetely
4113-1due to str

. j&( is combining +0*9*-09 q= 10.91
effect ; eydohexylchloride is

MY 9=10.81

more polar than chlorobenzene.

Q; Khidr one of the following has the highest dipole
moment ? C)7%7

egg⇒
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